#1) Ifh(x) = (8x7 — 9x + 2)%, find h'(x)

h'G)= § ( x - °rx+°)7 -(%Xux +'>)/
= 8’(8‘x’-°"<+°)q (S ’q)

Answer h'(x) = 8’( 87("‘ Ar *D)" (s6 x'a - Ct)

#2) IFf(x) = (x* +4)7(x® + 9)°, find f'(x)

£'h)= [(n"«)"] ( xo+ NS & (Klea) [{x -eq)J
= 7 ()" (x"9)' (x* *"') + (xtea)(6) (o) (9]
=7 (30 (h3) (P + (etea)7ls) [en) ( 3R)
x°(><"**)°(x3*‘7)¥\:7 A x(+9) + 5.3 (x"+4))]

= X'l ( x’w)" [aex"+ 25x + /Sx"+ (ao]

(o] [t 55x 4]

(xtsaf(x3+a) [ 43"+ 25 2x *0]

Answer f'(x) =
The Calculus

Page 1 of 4



#3) Ifw(x) = (2 ) find w' (x)
w'lt)=4 ?3:+>z- ?;:f)

( ox-z) ox-) (‘3:43)—(9;—2)(3:*:_)'
(3;&“75’ (Rx¢s)?

- Y(x ‘9) . _2(3x+s)- (5x-3)[3)
LZ"*(.) @x*-{)"

_ Ao - (Gx+r0 - Gx )

B T Bres)®

= g (2x-3) (16)
 (3x*)’

7] [D;(-))? ( le)
Answer w'(x) = — <
(2x+5)

#4) % [sin(cos(x? + 2x + 1))]

/
Cosfcos (x’-tDa-*l)B -‘:Cos (x*+ fa'\-t-n)l

"

Cos(Cos(x7+3&*l)> (—Slq(x743x*')) . (Xa"'Dx "")/
= Cos(ca(x’d&-ﬂ)) (—SM(X?“ Qx-ﬂ)) . (?K*'D)

- - (9)(*3‘) COS(COS(K‘I*D&*I)> S"'\(Xz"ox*')

Answerd%[sin(cos(x2 +2x+1))]= (9)(*33 COS(COS (x'*Dx"l)} Shia [Xi" DX"")
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#5) If k(x) = (sec(3x? — 1))® find k'(x)

/

K'l)= ¥ sec7[3>3-l)~ [Sec (‘5&1-‘a
:8' sec-’[3>\7—|>- Sec (’S:\z—l)_}-an(&?ﬂ) <3x1"')/
=8 sec (33 Sec(3x1) fon(3i-1) (6x)

= 48x sec8[3,3 ’l>+an(3&?“ l)

3
Answer k'(x) = 4‘8)( Secc [3)3 ’|>—}-an(3&?" |)

dx Lesc? (x)—cot? (x)

46 ) a tan(x) ] = d —/-Qv\(k) J

= .q{ [4‘- (t\]

= Sec’ (x)

2
Answer L|—82® | Sec (x)

dx Lesc2(x0)—-cotz)] —
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Derivatives & Their Uses
Exam Review 4

Plumber’s Crack In a Can
#7) While bending down to fetch a mishandled Funyun, George had a stupendous idea: He would sell Cans O’Crack

to plumbers who were too shy to display their own cracks. His cost function for producing Cans O’Crack is C(x) =
V5x2 + 29 dollars, where x is the number of cans produced.

a. Find the marginal cost function
b. Evaluate MC(x) when 10 cracked corns have Eeeg

c(b\:_’@——\
e etz

[ ()= (sx+29)*
Mety= (5522 (55 = et

z ox . _ s>
2 sx"+2q T T (®o+a
Sx . —S°
/V\C{X): = = szq
J Sx7+29 co

= 3
pI\C(lb): 49}7/[':-” J
wWhan 10 cans have beew ymade , He Johl loro‘F'.“ 'S Ihcrensivﬁ L’Y g9,/') Pes Can.

George’s Headache
#8) After making $0.35 from his Cans O’Crack venture, George decided to celebrate. While jumping on his bed

(read: frameless mattress), he bumped his head on the skylight (read: whole in roof). George decides to pop an

Advil to ease his pain. The strength of George’s reaction to a dose of x milligrams of Advil is R(x) = 2x [10 — 5X

for 0 <x < 20. If R'(x) is called the sensitivity of the Advil, find George’s sensitivity to the Advil for a dose of 10

mg. (Use a sentence answer. )
1o - 3(1e)
R'6) = (2x) (- ,p:) + :)x /04 ,‘)3 ' (10) EYNCRT)
i (fo--ni*m(x)(m-w% (ot 4o 30
1 i} L = Sles
-g(/o 4nf « x(m-dt (-4)

A -4, (=)
C”CF 1(’0 Z) —é.’f—s:

L (o494 [4 Loty =< )

l
2 1o [uo-2x-x] R'() = 2.2

o _Ho3x
Q (= 5 .- 2x

- S
- T

\
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